FINAL ANSWER KEY

Paper: Kerala Service Rules(Paper 1)

Date of 03-11-2019
Examination

Questionl:-An officer drawing a substantive pay of Rs. 83,000 from 01.5.2016 in the scale of pay of Rs.
81000-2000-97000-2200-108000-2400-117600 was promoted to officiate in the scale of pay of Rs. 89000-2000-97000-2200-108000-2400-12000
w.e.f. 01.4.2017 what will be his pay on 01-4-2018

A:-85000

B:-89000

C:-87000

D:-91000

Correct Answer:- Option-C

Question2:-A grade Il (b) officer retired from service while he was in Palaghat and later settled at Venjaramood was directed to appear in a
departmental enquiry to be held at Palaghat as a witness, as his evidence was considered to be of material value. Is he eligible for Travelling
Allowance for his journey? If Eligible what will be his grade for claiming TA

A:-Eligible for tour TA to grade Il (b) office

B:-Eligible for actual Travelling expenses only

C:-Not eligible for TA

D:-Eligible for TA and the grade will be decided by the enquiry officer

Correct Answer:- Option-A

Question3:-An administrative assistant who was drawing a basic pay of Rs. 62,000 w.e.f. 01.05.2016 expired on 20.4.2017. He entered into service
on 05.10.1983 family pension due to his wife is Rs.

A:-18600
B:-24800
C:-31000
D:-20274
Correct Answer:- Option-C
Question4:-An officer is provided free boarding and lodging at the place of duty at an outstation is he eligible for DA for halt?
A:-Not eligible for DA
B:-Eligible for 1/2 DA
C:-Eligible for 1/4th DA
D:-None of the above

Correct Answer:- Option-C

Question5:-As per G.O (P) 35/2016/ Fin dated 05.3.2016 Pension for PT Contingent Employees effects from 01.07.2014 wherein their age of
retirement is

A:-56 years
B:-60 years
C:-65 years
D:-70 years
Correct Answer:- Option-D

Question6:-An officer is on a one day tour to an outstation from his head quarters onward and return journeys has to be performed on the day of
official business itself, if the distance to be travelled is

A:-Within 50 kilometers
B:-Within 75 kilometers
C:-Within 15 kilometers
D:-None of the above

Correct Answer:- Option-A

Question7:-A Grade | with HQ at Kozhikode was transferred to Thiruvananthapuram. While claiming his transfer TA to his mother who is solely
dependent on him the sanctioning authority of transfer TA disallowed the claim what is your view

A:-Transfer TA disallowed to mother is in order

B:-Always eligible for transfer TA

C:-Mother is not included as members of family for claiming transfer TA
D:-(1) and (3) are correct

Correct Answer:- Option-D



Question8:-An officer was transferred from Kollam to Kattappana in November 2018. He was drawing a basic pay of Rs. 68,700 at the old station.
What is the maximum weight of personal effects that he can bring to the new station by claiming transportation charges?

A:-2000 kg
B:-3000 kg
C:-1500 kg
D:-None of the above

Correct Answer:- Option-B

Question9:-An officer under suspension or deemed to have been placed under suspension by an order of the appointing authority is entitled to get
subsistence Allowance one of the following shall be an optional deduction from subsistence allowance

A:-Electricity and water charges along with House Rent
B:-Subscriptions to family benefit schemes

C:-Refund of advances taken from GPF

D:-Both (1) and (2) above

Correct Answer:- Option-C

Question10:-A sub Registrar was on leave without allowances from 1.11.2018 to 30.11.2018. He was suspended from service with effect from
17.11.2018 FN. What is the date from which is eligible for subsistence allowance?

A:-1.12.2018
B:-18.11.2018
C:-17.11.2018

D:-None of the above
Correct Answer:- Option-A

Question11:-When a temporary post is created which may have to of the filled by a person not already in service, the pay be post shall be fixed
with

A:-The minimum that is necessary to secure the services of a person capable of discharging efficiently the duties of the post
B:-Pay will be fixed based on the experience of the office concerned

C:-A consolidated pay alone is allowance

D:-According to the direction of the employees pay can be fixed

Correct Answer:- Option-A

Question12:-What is the maximum period of leave not due that can be granted otherwise than on medical certificate to an officer who is due to
retire from service on 31.12.20207? He entered service on 10.4.1991

A:-80 days

B:-60 days

C:-180 days

D:-None of the above

Correct Answer:- Option-B
Question13:-The last pay drawn by an officer who retired from service on 31.3.2009 was Rs. 1,1070 the average emoluments calculated on that
day of the last 10 months came to Rs.10,958. The DA admissible while the retirement took place of the officer was 55%. If his period of service
came to 32 years during the time of retirement what will be DCRG admissible to the officer?

A:-Rs. 2,71,760

B:-Rs. 2,52,735

C:-Rs. 2,74,544

D:-Rs. 2,56,920

Correct Answer:- Option-C

Question14:-Every one-gazetted officer should be given a notice, requiring him to furnish the formal application for pension, one year in advance
of the date of retirement. Who is authorised to issue this notice

A:-Accountant General
B:-Pension sanctioning authority
C:-Head of the department
D:-Head of office

Correct Answer:- Option-D

Question15:-A senior superintendent in the Health Services Department who retired from service on 31.7.2013 has drawing a basic pay of Rs.
36,000 from the last 12 months along with a personal pay of Rs. 260 from 01.10.2012 with 30 years of qualifying service. Calculate is pension

A:-Rs. 18,000
B:-Rs. 18,130



C:-Rs. 19,130
D:-Rs. 19,000
Correct Answer:- Option-B

Question16:-An Inspector of police was injured while on duty on 3.1.2018 and was on special disability Leave from 3.2.2018 to 3.6.2018. What is
the period for which he is eligible for earned leave?

A:-For the entire period of leave
B:-For 90 days from 3.2.2018 A
C:-From 3.2.2018 to0 2.6.2018
D:-For 120 days from 3.2.2018
Correct Answer:- Option-C

Question17:-Mr. X was drawing a pay of Rs. 38,840 since 01.01.2013 and before that his pay was Rs. 37,940. He retired from service on 31.5.2013.
What will be his average emoluments

A:-28390
B:-38930
C:-38480
D:-34880
Correct Answer:- Option-A
Question18:-Pension ceases to be payable if it remains undrawn for more than
A:-2 years
B:-1 year
C:-3 years
D:-None of the above
Correct Answer:- Option-C
Question19:-Minimum Pension from 01.07.2014 is
A:-4500
B:-8500
C:-6500
D:-7000
Correct Answer:- Option-B
Question20:-Extra ordinary pension will not be awarded for an injury sustained more than
A:-5 years before the date of application
B:-7 years before the date of application
C:-10 years before the date of application
D:-None of the above
Correct Answer:- Option-A
Question21:-Charge Allowance for discharging current duties
A:-4% of the minimum of each higher time scale
B:-2% of the minimum of each lower time scale
C:-4% of the minimum of each lower time scale
D:-2% of the minimum of each higher time scale
Correct Answer:- Option-D

Question22:-Medical examinations is not required for commutation of pension in the case of superannuation pension if the application for
commutation is made within

A:-6 months from the date of retirement
B:-3 year from the date of retirement
C:-2 years from the date of retirement
D:-1 year from the date of retirement
Correct Answer:- Option-D
Question23:-The service book of an officer who resigned from service shall be retained for a period of
A:-5 years
B:-25 years



C:-10 years

D:-Need not be retained

Correct Answer:- Option-A
Question24:-An officer having a qualifying service of 30 years retired from service on 30.11.2018 and his pay was fixed as Rs. 91,000 with effect
from 1.7.2018 in the scale of pay of Rs. 55,350 __ 81000-2000-97000-2200-101400. If the rate of DA is 15%, the death -cum-retirement
gratuity admissible is

A:-Rs. 7,00,000

B:-Rs. 15,52,000

C:-Rs. 13,50,000

D:-Rs. 14,00,000

Correct Answer:- Option-D
Question25:-R. 151 of part lll KSR represents

A:-Disposal of Records

B:-Retaining of duplicate service book

C:-Periodical inspection of service book

D:-Personal certificate of character entry of the officer

Correct Answer:- Option-C

Question26:-An office having a qualifying service of 30 years retired from service on 30.11.2018 on superannuation and his pay was fixed as Rs.
91,000 with effect from 17.2018 in the scale of pay of Rs. 55,350 81000-2000-97000-2200-101400. Calculate the pension admissible to him

A:-Rs. 45,000

B:-Rs. 53,900

C:-Rs. 51,750

D:-None

Correct Answer:- Option-A
Question27:-The maximum number of compensation leave that can be granted in a calendar year to an officer other than Hospital Employees

A:-22 days

B:-20 days

C:-15 days

D:-17 days

Correct Answer:- Option-C

Question28:-A pensioner commuted a portion of his pension for the first time after retirement at 62 years of age (commutation factor 9.15). The
commuted portion of pension will be restored after a period of

A:-12 years

B:-9 years

C:-10 years

D:-15 years

Correct Answer:- Option-C

Question29:-From 01.02.2016 R. 28 A is applied to fix higher pay in all cases of officiating promotion/Appointment where minimum of higher scale
of pay does not exceed Rs.

A:-Rs. 37,800
B:-Rs. 67,800
C:-Rs. 68,700
D:-Rs. 36,140
Correct Answer:- Option-C
Question30:-The minimum qualifying service required for the admissibility of death-cum-retirement gratuity is
A:-10 years
B:-15 years
C:-5 years
D:-No minimum limit
Correct Answer:- Option-C
Question31:-One among the following is a compulsory deduction from " Subsistence Allowance"

A:-House Rent and Allied charges



B:-Recovery of loss sustained to government
C:-Refund of advance taken from GPF
D:-Court Attachment
Correct Answer:- Option-A
Question32:-The fraction of less than half year will be rounded to the next completed year for the calculation of minimum and maximum pension
A:-superannuation pension
B:-Ex- gratia pension
C:-Retiring pension
D:-Invalid pension
Correct Answer:- Option-A
Question33:-The government are the sanctioning authority of leave without allowance under R. 88 P1 KSR exceeding ___ months
A:-4 months
B:-6 months
C:-5 months
D:-3 months

Correct Answer:- Option-B

Question34:-A government officer retired on retiring pension on 15.9.2018. No leave was availed by him during the last 10 months of service. The
period of service reckonable for average emolument is

A:-1.12.2017 to 30.9.2018
B:-16.11.2017 to 15.9.2018
C:-1.11.2017 to 31.8.2018
D:-15.11.2017 to 15.9.2018
Correct Answer:- Option-B
Question35:-Leave not due can be granted to permanent employees at a stretch not exceeding ____ days
A:-360 days
B:-180 days with Medical Certificate
C:-120 days without Medical Certificate
D:-90 days
Correct Answer:- Option-D
Question36:-Higher rate of family Pension admissible is
A:-40% of the pay last drawn
B:-50% of the pay last drawn
C:-45% of the pay last drawn
D:-30% of the pay last drawn
Correct Answer:- Option-B

Question37:-An employee who wishes to consider his provisional or any regular service in any department for service benefits on entering
government service shall apply before the competent authority or government within a period of

A:-One year in regular service
B:-Five years
C:-Three years
D:-Two years
Correct Answer:- Option-B
Question38:-The amount of anticipatory pension admissible is
A:-100% of the probable amount of pension
B:-75% of the probable amount of pension
C:-60% of the probable amount of pension
D:-50% of the probable amount of pension
Correct Answer:- Option-A
Question39:-One among the following will be considered as qualifying service for reckoning increment
A:-LWA without Medical Certificate in continuation of Maternity Leave

B:-LWA taken under App: XII B



C:-Provisional service regularized upto 30.9.1994
D:-Provisional service regularized after 01.10.1994
Correct Answer:- Option-C

Question40:-An officer in the scale of pay of Rs. 45800-89,000 retired from service on the AN of 31.12.2018. The qualifying service at the time of
retirement was 28 years. The last pay drawn was Rs. 81,000 and DA % is 15%. Workout the DCRG admissible to him

A:-Rs. 12,00,000

B:-Rs. 13,04,100

C:-Rs. 14,00,000

D:-Rs. 11,34,000

Correct Answer:- Option-B
Question41:-One among the following is not treated as infections Diseases for the purpose of grant of special casual leave

A:-Chicken pox

B:-Diphtheria

C:-Plague

D:-Corebo- spinal Meningitis

Correct Answer:- Option-A

Question42:-An employee who entered service on 1.1.2012 died on 31.1.2012 while in service. The eligible amount of DCRG payable to his family
is

A:-2 times the emoluments at the time of death
B:-6 times the emoluments at the time of death
C:-12 times the emoluments at the time of death
D:-5 times the emoluments at the time of death
Correct Answer:- Option-A
Question43:-The pay to which an officer entitled if he held the post substantively and where performing its duties called
A:-Special pay
B:-Presumptive pay
C:-Personal pay
D:-Honoarium
Correct Answer:- Option-B
Question44:-The service book of an employee who died in service shall be retained by the head of the office for a period of
A:-5 year from the date of death
B:-15 years from the date of death
C:-25 years from the date of death
D:-10 years from the date of death
Correct Answer:- Option-C
Question45:-The lien of an officer may suspend by government
A:-When an officer having lien is appointed permanently to a post where another other has suspended lien
B:-When an officer is under suspension
C:-While undergoing training under R-17
D:-When the officer is enjoying time if not the transfer is on an appointment on substantive basis
Correct Answer:- Option-A
Question46:-The contributory family pension rules in KSR came into force on
A:-1.11.1959
B:-14.11.1966
C:-1.4.1964
D:-1.4.2013
Correct Answer:- Option-C
Question47:-Residuary Gratuity is granted to the family of a pensioner when
A:-the officer voluntary takes retirement
B:-before the retirement of officer

C:-after retirement of the officer



D:-during while the officer is service
Correct Answer:- Option-C

Question48:-The pension sanctioned to an officer retired on superannuation on 31.12.2018 is Rs. 37,143 pm. He commuted 40% of his monthly
pension. What is the amount o f C.V.P admissible to him?

A:-Rs. 19,78,952
B:-Rs. 19,78,953
C:-Rs. 19,78,980
D:-Rs. 19,79,086
Correct Answer:- Option-B
Question49:-No medical certificate is necessary for the last grade employees in ___ department while applying invalid pension
A:-Health service department
B:-Education department
C:-Excise department
D:-Forest department

Correct Answer:- Option-D

Question50:-Average emoluments of an officer retired on superannuation comes to Rs. 87014.49. His qualifying service is 30 years. What is the
amount of monthly pension admissible to him?

A:-Rs. 43,508
B:-Rs. 43,507
C:-Rs. 43,510
D:-None
Correct Answer:- Option-A
Question51:-Which of the following period is not reckoned as duty for the purpose of acruing earned leave
A:-Casual leave
B:-Maternity leave
C:-Period spent in Civil Service Tournament
D:-Joining time
Correct Answer:- Option-B
Question52:-Which processing does not require government sanction?
A:-Instituting departmental enquiry after retirement
B:-Vigilance enquiry while in service
C:-Judicial enquiry while in service
D:-Departmental enquiry while in service

Correct Answer:- Option-D

Question53:-Adoptive mothers with less than two serviving children are eligible for 180 days leave similar to that of maternity leave represents
which rule

A:-R 100 P1 KSR

B:-R 102 P1 KSR

C:-R 102 A P1 KSR

D:-R 102 B P1 KSR
Correct Answer:- Option-C

Question54:-An office retired from service on superannuation on 30.9.2014. As on 1.2.2017 while among the following kinds of enquiry is possible
in respect of an event which took place on 1.1.20137?

A:-Judicial enquiry
B:-Departmental enquiry
C:-Both (1) and (2)

D:-No enquiry is possible
Correct Answer:- Option-A

Question55:-The journey of an officer on tour (in Departmental Vehicle) from Head Quarter exceed 24 hours. The officer claimed DA for halt and
incidental expenses for the journey. Please comment.

A:-Action is irregular

B:-Partially regular



C:-Not eligible for TA or DA
D:-Action is Regular
Correct Answer:- Option-D
Question56:-Identify the wrong statement
A:-Higher rate of family pension should not exceed the pension amount of the officer
B:-Higher rate of family pension at present will not exceed twice the amount of normal rate of family pension
C:-If the pension amount is less than the normal rate of family pension, higher rate of family pension payable is the normal rate
D:-If the pension amount is less than the normal rate of family pension, the higher rate payable is the pension amount
Correct Answer:- Option-D

Question57:-The amendment made to have effect from 1st November 1998, the maximum number of Earned Leave that may be granted at a time
shall be days

A:-300 days
B:-120 days
C:-180 days
D:-90 days
Correct Answer:- Option-C

Question58:-One of the following statement is wrong identify the one
A:-Pension and D.C.R.G are together payable
B:-Pension and gratuity are not payable together
C:-Pension and gratuity are payable together
D:-Gratuity and DCRG are together payable
Correct Answer:- Option-C

Question59:-Due to enforced halt inconcequence with Natural Calamities on Road and Railways an officer on tour is eligible to claim DA at the rate
of

A:-3/4
B:-1/2
C:-2/3
D:-1/4
Correct Answer:- Option-A

Question60:-If there are more than one son or daughter suffering from physical/mental disorder or disability coming within the definition of family
pension, the family pension shall be paid

A:-to them in equal shares
B:-the younger will get the family pension only after the death of the elder
C:-the elder will get 60% and the younger 40% of the total admissible amount
D:-there is no provision in KSR regarding the allocation between them
Correct Answer:- Option-A
Question61:-An officer who retired from service on the attainment of his age of 56 commutation table for his pension is
A:-11.42
B:-11.10
C:-11.72
D:-10.78
Correct Answer:- Option-B
Question62:-The income limit for the unmarried daughter for eligibility for family pension is as follows
A:-The annual income should not exceed Rs. 30,000
B:-The annual income should not exceed Rs. 40,000
C:-The annual income should be less than Rs. 30,000
D:-There is no income limit
Correct Answer:- Option-C
Question63:-If death occurs in the first year of service of an officer DCRG will be paid
A:-2 months emoluments last drawn

B:-6 months emoluments last drawn



C:-3 months emoluments last drawn
D:-No DCRG will be paid when death occurs in the first year of service of the officer
Correct Answer:- Option-A
Question64:-What is the amount of PTA admissible during the earned leave period from 1.12.2018 to 31.12.2018, if the monthly PTA is Rs. 700
A:-Rs. 700
B:-Rs. 500
C:-Nil
D:-None
Correct Answer:- Option-C

Question65:-The DMO of Kozhikode was deputed for training at Jaipur from 01.06.2018 to 31.07.2018. During this training period the Doctor was
on Casual Leave from 15.06.2018 to 20.6.2018 and was away from training centre with permission. He will get full DA for halts

A:-for the whole day or training
B:-for first 10 days of training only
C:-for 24 days alone excluding leave
D:-For first 30 days

Correct Answer:- Option-C

Question66:-The PTA of an officer is Rs. 300 PM. Minimum number of days of tour prescribed is 15 in a month. If he has short toured 5 days, the
reduction to be made is

A:-5 x 30/15

B:-5 x 300 /15

C:-300 x 15/30

D:-10 x 300/ 15

Correct Answer:- Option-B
Question67:-The date of birth of an additional secretary is 01.04.1960. The date of retirement is

A:-30.04.2015

B:-31.3.2016

C:-30.04.2016

D:-31.3.2015

Correct Answer:- Option-B

Question68:-A grade lI(b) officer travelled by road for official purpose (81 kms) in ordinary bus on 27.12.2018. Which of the following TA claim is
admissible?

A:-Fast passenger bus fare plus incidental expenses

B:-Express bus fare plus incidental expenses subject of a minimum of 1/2 DA
C:-Express bus fare only

D:-A flat rate of Rs. 2 per km

Correct Answer:- Option-D

Question69:-When the pay of an officer is revised as per the latest pay Revision Order No. GO. (P) 7/2016 Fin dated 20.01.2016 the fitment
benefit and the service together shall not exceed

A:-Rs. 6,000

B:-Rs.12,000

C:-Rs.2,000

D:-Rs. 10,000

Correct Answer:- Option-B
Question70:-DA admissible for a grade | officer for halt outside the state is

A:-Rs. 500

B:-Rs. 550

C:-Rs. 450

D:-Rs. 400 s

Correct Answer:- Option-B

Question71:-An officer retired from service on 31.3.2016 and died within an year after retirement who has no surviving wife or children the person
eligible to get family pension is

A:-Dependent parents in equal share



B:-Dependent father alone
C:-Based on the income limit to the windowed daughter
D:-Considering the income limit to disabled divorced daugter
Correct Answer:- Option-A
Question72:-An officer was deputed to training for 80 days in Kozhikode. The daily allowance admissible will be
A:-Full rate for 80 days
B:-Full rate of the first 30 days and half rate thereafter
C:-Full rate for the first 30 days and 3/4th rate thereafter
D:-Full rate for the first 10 days, 3/4 rate for the next 20 days and 1/2 rate thereafter
Correct Answer:- Option-C
Question73:-From 01.2.2016 fixation of pay under R. 28 is applicable where the minimum of higher scale exceeds
A:-Rs. 3,6140
B:-Rs. 37,500
C:-Rs. 68,700
D:-Rs. 67,800
Correct Answer:- Option-C
Question74:-A grade | officer with HQs at Thiruvananthapuram proceeded to Nedumangad at 8 am on 25.1.2019 and returned to HQs on the same
day. He performed his journey in departmental vehicle. Total distance travelled is 58 kms by road with a halt of 10 hrs. at Nedumangad. What is
the TA admissible to him
A:-Rs. 400
B:-Rs. 600
C:-Rs. 200
D:-None
Correct Answer:- Option-A
Question75:-To avail LWA under App. XIl A E XII C officer should apply for leave before __ months to the controlling officers or head of offices
A:-One month
B:-Three months
C:-Two months
D:-Six months
Correct Answer:- Option-B
Question76:-A grade |l (a) officer was transferred from Kottayam To Thrissur He was relieved on 14.11.2018 from the old station. He joined duty at
the new station after availing the admissible joining time in the FN of 23.11.2018. What is the earliest date on which his family members can
proceed before his relinquishment from the old station for claiming admissible transfer TA as per Rules?
A:-14.10.2018
B:-15.10.2018
C:-16.10.2018
D:-None

Correct Answer:- Option-B

Question77:-A family members of a transferred officer follows within period from the date of assuring charge in the new station is
eligible for transfer TA

A:-3 months

B:-2 months

C:-One month

D:-Six month

Correct Answer:- Option-D

Question78:-An officer deputed to under go a course of training may drew TA as on transfer if the course of training exceeds

A:-6 months

B:-3 months

C:-4 months

D:-5 months

Correct Answer:- Option-B

Question79:-If a transferred employee carries his personal effects by road between places connected by Rail what will be claim admissible over
and above loading and unloading charged?



A:-Actual amount upto the limit of the amount admissible on rail
B:-Twice the normal rate of mileage
C:-Thrice the mileage admissible
D:-The officer is not eligible to carry personal effects by road where rail connection is available
Correct Answer:- Option-A
Question80:-For calculating travelling allowance an officer on transit from one post to another post will be treated as belonging to
A:-The posts from which he is transferred
B:-The higher of the two posts
C:-The lower of the two posts
D:-The post to which he is transferred
Correct Answer:- Option-C

Question81:-An officer in a Major Department drawing his pay above the minimum of the scale is appointed to a post another department in an
identical scale of pay under inter departmental transfer. How will his pay fixed

A:-At a lowest stage

B:-At the same stage
C:-Minimum of the scale of pay
D:-None of the above

Correct Answer:- Option-B

Question82:-A grade Il (a) officer whose HQs is in Thiruvananthapuram, proceeded to Kozhikode at halted there for 12 days without the permission
of the Head of the Department. His entitlement for daily allowance is

A:-Rs. 3,680
B:-Rs. 3,840
C:-Rs. 3,200
D:-Rs. 3,520
Correct Answer:- Option-C
Question83:-One of the following is not an obligatory test identify
A:-Any test a pass is required for increment
B:-Any test a pass is inevitable to declare probation
C:-Any test a pass is required for promotion
D:-Any test a pass in which is required for a transfer appointment
Correct Answer:- Option-D

Question84:-A grade Il (a) officer was transferred from station ""A" to ''B" transported his car from station "A" to "'B" by train. The distance
between the two stations is 150 kms is he eligible for TA for transportation of his car

A:-He is eligible for cost of transportation
B:-He is eligible only for transportation cost of a motor cycle
C:-He is not eligible for the cost of transportation of any vehicle in this case
D:-He is eligible for the cost of transportation of either a car or a motor cycle
Correct Answer:- Option-C
Question85:-For the treatment of anti-rabic treatment Special Casual Leave is eligible for a period of
A:-Upto 14 days for treatment with Medical Certificate
B:-4 to 5 days for the days of injection administered at regular intervals with medical certificate
C:-Limited to 3 days for treatment and for the journeys to and from the nearest, anti rabic treatment centre
D:-Limited to Seven days for treatment with Medical Certificate
Correct Answer:- Option-B
Question86:-For journey on transfer an officer's daughter aged 5 years accompanying him by train will be eligible for TA
A:-Full fare only
B:-Half fare only
C:-Full fare plus incidental expenses
D:-Half fare plus incidental expenses
Correct Answer:- Option-B

Question87:-AUTO/TAXI fare for touring officials is limited to daily



A:-Rs. 600
B:-Rs. 300
C:-Rs. 150
D:-There is no limit provided, the journey is limited to 3 per day
Correct Answer:- Option-B
Question88:-When two out station journeys are performed within 24 hours but in two calendar days, the absence from HQs will be considered as
A:-2 days
B:-1 day
C:-1% day
D:-None
Correct Answer:- Option-B

Question89:-Mr. 'X' was transferred from station 'A' to station 'B' (550 kms RAIL) and was relieved from station 'A' on the AN of 9th (Friday). His
eligibility to join duty

A:-18th Saturday of that month FN
B:-On the FN of 20th Tuesday
C:-19th AN of that month (Monday)
D:-17th Friday FN of that month
Correct Answer:- Option-B
Question90:-Grade Il (a) officers are eligible to travel in train by
A:-2nd A/C
B:-3rd A/C
C:-1st Class
D:-1st class and if there is no first class in the train then by 2nd A/C
Correct Answer:- Option-D

Question91:-For correction of Date of Birth in the service Records, application for the same should be submitted within years from the
date of entry in service

A:-Within 5 years from the date of entry in service
B:-Before declaring probation in the entry cadre
C:-Within one year from the date of joining
D:-Within three years from the date of continuation
Correct Answer:- Option-A
Question92:-A daily allowance may not be drawn for more than days of halt at one place
A:-20 days
B:-15 days
C:-10 days
D:-30 days
Correct Answer:- Option-C
Question93:-When an officer is drawing his pay and allowance from the source other than the consolidated fund of India is said to be on
A:-Working arrangement
B:-Study purpose
C:-Foreign service
D:-None of the above
Correct Answer:- Option-C
Question94:-The minimum service required for retiring pension is
A:-20 years with rounding
B:-19 years and 6 months
C:-19 years and 6 month without rounding
D:-20 years before adding weightage and without rounding
Correct Answer:- Option-D
Question95:-For the purpose of calculating travelling allowance officers are classified into

A:-4



B:-3
C:-5
D:-6
Correct Answer:- Option-A

Question96:-The claim admissible to Grade | and Il officers for a transfer journey by train
A:-Admissible train fare plus incidental expenses, incidentals subject to a minimum of % DA
B:-Admissible train fare plus two incidental expenses, incidentals subject to a minimum of 1 DA
C:-Admissible train fare plus there incidental expenses, incidentals subject to a minimum of 11/2 DA
D:-Admissible train fare only
Correct Answer:- Option-C

Question97:-DA during an officer on HPL will be allowed on leave on leave salary actually drawn. An Officer who proceeds on leave, w.e.f.
01.07.2014 and if his pay does not exceeds The amount of DA will be what would have been admissible has he performed duty

A:-Rs. 38,700

B:-Rs. 37,500

C:-Rs. 37,800

D:-Rs. 35,700

Correct Answer:- Option-D

Question98:-Service below the age of 18 years will count for

A:-Compensation Pension
B:-Compensation Gratuity
C:-Invalid Pension
D:-Invalid Gratuity
Correct Answer:- Option-B

Question99:-What is the revised rate of minimum family pension as per 10th pay Revision | introduced vide G.O. (P) No. 9/2016 Fin dated
20.01.2016

A:-Rs. 7,560

B:-Rs. 8,560

C:-Rs. 8,500

D:-Rs. 12,000

Correct Answer:- Option-C
Question100:-Dies-non will be reckoned for

A:-Increment

B:-Pension

C:-Earned Leave

D:-For both (1) and (2)

Correct Answer:- Option-D



